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QUESTION 1

What should be installed on a VM to assist with VM-to-host time synchronization?
A. VMware Tools

B. VRA guest agent

C. vVROps agent

D. Guest Operations Manager

Correct Answer: A

Reference: https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.vm_admin.doc/GUIDCOD8326A-
B6E7-4E61-8470-6C173FDDF656.html

QUESTION 2

What should the administrator do to monitor the size of the VM snapshot?
A. Use native Guest OS monitoring tools.

B. Install VMware Tools.

C. Create a condition-based alarm.

D. Run esxtop.

Correct Answer: C

Reference: https://kb.vmware.com/s/article/1018029

QUESTION 3

Which configuration could prevent an administrator from performing a vSphere vMotion migration?
A. CPU affinity is enabled on the VM.

B. The ESXi hosts use IPv6 addresses.

C. The VM has an RDM in virtual compatibility mode.

D. 1GbE adapters are in use for the vMotion network.

Correct Answer: A

QUESTION 4
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A VSS is configured with two uplinks and assigned a load balancing policy route based on a virtual port ID. What are
two potential disadvantages of this configuration? (Choose two.)

A. A VM with a single MAC address is limited to the speed of the uplink associated with the relevant port ID.
B. Higher resource consumption compared to other load balancing algorithms will occur.

C. The virtual switch is unaware of uplink load and uplinks might become overloaded.

D. The NIC with less load is more likely to be chosen if port IDs match.

E. ESXi will use NIOC to attempt to mitigate network congestion when an uplink becomes saturated.
Correct Answer: AC

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vsphere.networking.doc/GUIDA4F1BF4B-8199-45A1-9578-1E4B6B0O8DABO.html

QUESTION 5

What are two features of the CPU scheduler? (Choose two.)
A. allocates CPU and memory resource usage

B. determines which worlds are entitled to CPU time

C. schedules vCPUs on physical CPUs

D. creates a world for each virtual machine to run in

E. checks CPU uptime

Correct Answer: AC
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